

A NOTE ON SIMPSON 3/8 RULE FOR FUNCTION WHOSE MODULUS OF FIRST DERIVATIVES ARE s -CONVEX FUNCTION WITH APPLICATION

ARSLAN MUNIR, HÜSEYİN BUDAK, HASAN KARA*,
LAXMI RATHOUR, AND IRZA FAIZ

ABSTRACT. Researchers continue to explore and introduce new operators, methods, and applications related to fractional integrals and inequalities. In recent years, fractional integrals and inequalities have gained a lot of attention. In this paper, firstly we established the new identity for the case of differentiable function through the fractional operator (Caputo-Fabrizio). By utilizing this novel identity, the obtained results are improved for Simpson second formula-type inequality. Based on this identity the Simpson second formula-type inequality is proved for the s -convex functions. Furthermore, we also include the applications to special means.

1. Introduction

Inequalities provide a versatile tool for dealing with uncertain or variable quantities and are integral to many branches of mathematics and their applications. They allow mathematicians, scientists, and engineers to reason about relationships, make informed decisions, and solve a wide range of problems. Overall, estimation is a powerful tool that complements exact calculations and enhances your problem-solving toolkit, enabling you to make informed decisions and solve mathematical problems efficiently. Inequalities have useful and legitimate applications in the fields of probability theory, functional inequalities, interpolation spaces, sobolev spaces, and information theory.

Fractional calculus continues to be an active area of research, with ongoing studies exploring its theoretical foundations, computational methods, and diverse applications. The concept of fractional calculus dates back to the work of mathematicians like Leibniz and Liouville, but it gained renewed interest and formalization in the 20th century. Notable researchers who contributed to the field include Riemann, Liouville, Grünwald, Letnikov, and Caputo. Indeed, over the past two decades, the use of fractional calculus has experienced a notable increase in both pure and applied disciplines of science and engineering. In fractional calculus, there exist many different kinds of integral operators. These operators have applications for applied crucial

Received February 19, 2024. Revised April 3, 2024. Accepted April 3, 2024.

2010 Mathematics Subject Classification: 26D07, 26D10, 26D15.

Key words and phrases: Simpson 3/8 type inequalities, s -convex function, Fractional integrals, Hölder's inequality, Power-mean inequality.

* Corresponding author.

© The Kangwon-Kyungki Mathematical Society, 2024.

This is an Open Access article distributed under the terms of the Creative Commons Attribution Non-Commercial License (<http://creativecommons.org/licenses/by-nc/3.0/>) which permits unrestricted non-commercial use, distribution and reproduction in any medium, provided the original work is properly cited.

and theory of integral inequalities. In recent years mathematicians have become more interested in fractional integral operators to developed new inequalities (see these article [1–4]). Numerous novel fractional integral inequalities, such as the Simpson's inequality, have been developed in recent years, view these paper [5, 6] for more details in this regard. Furthermore, Budak et al. [7] examined several modifications of Simpson-type inequalities within the structure of differentiable convex functions by employing generalized fractional integrals. For more on Simpson-type inequalities and other characteristics of Riemann-Liouville fractional integrals, readers see [8, 9] and its reference. The following inequality is known as Simpson's inequality the original version is defined as.

THEOREM 1.1. [13] *Let $\lambda : [\pi, \vartheta] \rightarrow \mathbb{R}$ be a four times continuously differentiable mapping on (π, ϑ) and $\|\lambda^{(4)}\|_{\infty} = \sup_{x \in (\pi, \vartheta)} |\lambda^{(4)}| < \infty$, then following inequalities holds:*

$$\left| \left[\frac{\lambda(\pi) + \lambda(\vartheta)}{6} + \frac{2}{3} \lambda \left(\frac{\pi + \vartheta}{2} \right) \right] - \frac{1}{\vartheta - \pi} \int_{\pi}^{\vartheta} \lambda(x) dx \right| \leq \frac{1}{2880} \|\lambda^{(4)}\|_{\infty} (\vartheta - \pi)^4.$$

In all of this years, Thomas Simpson established fundamental methods for numerical integration and estimate of definite integrals that are now known as Simpson's law. (1710-1761). But J. Kepler utilized an identical approximation over a century before, which is because it is often referred to as Kepler's law. Estimates based just on a three-step quadratic kernel are often referred to as Newton-type results as Simpson's method utilizes the three-point Newton-Cotes quadrature rule. Notably, the work [10] delves into fractional Newton type inequalities for functions with bounded variation, while also establishing similar inequalities for differentiable convex functions through the application of Riemann-Liouville fractional integrals. Further expanding this field, Sitthiwirattam et.al in [11] contributed additional fractional Newton- type inequalities, again focusing on bounded variation. Moreover, in the study by Gao and Shi in [12] new Newton type inequalities were formulated based on convexity principle, particulary for specific scenarios involving real functions, thereby underscoring potential applications in this domain. For those seeking a more comprehensive understanding of Newton-type inequalities, especially in the context of convex differentiable functions, the works cite in [13, 14] are invaluable resources. We delineate two primary formulations as follows.

Simpson quadrature formula (Simpson's 1/3) is followed as:

$$(1) \quad \left| \frac{\lambda(\pi)}{6} + \frac{4}{6} \lambda \left(\frac{\pi + \vartheta}{2} \right) + \frac{\lambda(\vartheta)}{6} - \frac{1}{\vartheta - \pi} \int_{\pi}^{\vartheta} \lambda(u) du \right| \leq \frac{(\vartheta - \pi)^4}{2880} \|\lambda^{(4)}\|_{\infty}.$$

Simpson second formula or Newton-Cotes quadrature formula (Simpson's 3/8) is followed as:

$$(2) \quad \left| \frac{\lambda(\pi)}{8} + \frac{3}{8} \lambda \left(\frac{2\pi + \vartheta}{2} \right) + \frac{3}{8} \lambda \left(\frac{\pi + 2\vartheta}{2} \right) + \frac{\lambda(\vartheta)}{8} - \frac{1}{\vartheta - \pi} \int_{\pi}^{\vartheta} \lambda(u) du \right| \leq \frac{(\vartheta - \pi)^4}{6480} \|\lambda^{(4)}\|_{\infty}.$$

In recently Noor et. al [15] obtained the Simpson's 3/8 type inequalities for differentiable function.

$$\left| \frac{\lambda(\pi)}{8} + \frac{3}{8} \lambda \left(\frac{2\pi + \vartheta}{2} \right) + \frac{3}{8} \lambda \left(\frac{\pi + 2\vartheta}{2} \right) + \frac{\lambda(\vartheta)}{8} - \frac{1}{\vartheta - \pi} \int_{\pi}^{\vartheta} \lambda(u) du \right|$$

$$\begin{aligned} &\leq (\vartheta - \pi) \left[\frac{17}{756} \left(\frac{973 |\lambda'(\pi)|^q + 251 |\lambda'(\vartheta)|^q}{1224} \right)^{\frac{1}{q}} + \frac{1}{36} \left(\frac{|\lambda'(\pi)|^q + |\lambda'(\vartheta)|^q}{2} \right)^{\frac{1}{q}} \right. \\ &\quad \left. + \frac{17}{756} \left(\frac{251 |\lambda'(\pi)|^q + 973 |\lambda'(\vartheta)|^q}{1224} \right)^{\frac{1}{q}} \right], \end{aligned}$$

and

$$\begin{aligned} &\left| \frac{\lambda(\pi)}{8} + \frac{3}{8} \lambda \left(\frac{2\pi + \vartheta}{2} \right) + \frac{3}{8} \lambda \left(\frac{\pi + 2\vartheta}{2} \right) + \frac{\lambda(\vartheta)}{8} - \frac{1}{\vartheta - \pi} \int_{\pi}^{\vartheta} \lambda(u) du \right| \\ &\leq (\vartheta - \pi) \left[\left(\frac{3^{p+1} + 5^{p+1}}{24^{p+1}(p+1)} \right)^{\frac{1}{p}} \left(\frac{5 |\lambda'(\pi)|^q + |\lambda'(\vartheta)|^q}{18} \right)^{\frac{1}{q}} + \left(\frac{2}{6^{p+1}(p+1)} \right)^{\frac{1}{p}} \right. \\ &\quad \left. \times \left(\frac{|\lambda'(\pi)|^q + |\lambda'(\vartheta)|^q}{6} \right)^{\frac{1}{q}} + \left(\frac{3^{p+1} + 5^{p+1}}{24^{p+1}(p+1)} \right)^{\frac{1}{p}} \left(\frac{|\lambda'(\pi)|^q + 5 |\lambda'(\vartheta)|^q}{18} \right)^{\frac{1}{q}} \right]. \end{aligned}$$

In 2020 Erden et al. established the error bounds of Simpson's second formula for differentiable function [16].

THEOREM 1.2. *Let $\lambda : [\pi, \vartheta] \rightarrow \mathbb{R}$ be a differentiable mapping whose derivative is continuously on (π, ϑ) . Then for all $x \in [\pi, \vartheta]$, then following inequality holds:*

$$\left| \frac{\lambda(\pi)}{8} + \frac{3}{8} \lambda \left(\frac{2\pi + \vartheta}{2} \right) + \frac{3}{8} \lambda \left(\frac{\pi + 2\vartheta}{2} \right) + \frac{\lambda(\vartheta)}{8} - \frac{1}{\vartheta - \pi} \int_{\pi}^{\vartheta} \lambda(u) du \right| \leq \frac{25(\vartheta - \pi)}{288} \|\lambda\|_{\infty}.$$

The concept of convexity has a strong history in ancient times. The theory of convexity has found extensive use and significance in a wide range of modern mathematical disciplines, including real analysis, functional analysis, linear algebra, and optimization. Theory of inequalities, where the idea of convexity is crucial for enhancing the estimation bounds of various kinds of integral inequalities [17, 18]. The well-known definition of convexity is followed as:

DEFINITION 1.3. [19] If $\lambda : I \rightarrow \mathbb{R}$ is called convex on I for all $(\pi, \vartheta) \in I$, and $\Pi \in [0, 1]$, then following inequality holds:

$$(3) \quad \lambda(\Pi\pi + (1 - \Pi)\vartheta) \leq \Pi\lambda(\pi) + (1 - \Pi)\lambda(\vartheta).$$

The mapping λ is concave on I the inequality (3) holds in reversed direction for all $(\pi, \vartheta) \in I$, and $\Pi \in [0, 1]$.

DEFINITION 1.4. [20] The function $\lambda : I \subseteq \mathbb{R} \rightarrow \mathbb{R}_0 := [0, \infty)$ is said to be s -convex, if

$$\lambda(\Pi\pi + (1 - \Pi)\vartheta) \leq \Pi^s \lambda(\pi) + (1 - \Pi)^s \lambda(\vartheta),$$

for all $\pi, \vartheta \in I$, and $\Pi \in [0, 1]$.

DEFINITION 1.5. [21] Suppose $\lambda \in L[\pi, \vartheta]$. The left and right-sided Riemann-Liouville fractional integrals of order $\Delta > 0$ defined by:

$$\begin{aligned} I_{\pi+}^{\Delta} \lambda(x) &= \frac{1}{\Gamma(\Delta)} \int_{\pi}^x (x - \Pi)^{\Delta-1} \lambda(\Pi) d\Pi, \quad x > \pi \\ I_{\vartheta-}^{\Delta} \lambda(x) &= \frac{1}{\Gamma(\Delta)} \int_x^{\vartheta} (\Pi - x)^{\Delta-1} \lambda(\Pi) d\Pi, \quad x < \vartheta, \end{aligned}$$

where $\Gamma(\cdot)$ is the gamma function and $I_{\pi+}^0 \lambda(\Pi) = I_{\vartheta-}^0 \lambda(\Pi) = \lambda(\Pi)$.

DEFINITION 1.6. [22] Let $\lambda \in H'(\pi, \vartheta)$, $\pi < \vartheta$, for all $\Delta \in [0, 1]$, where $\beta(\Delta) > 0$ is a normalizer satisfying $\beta(0) = \beta(1) = 1$, then the fractional integrals are defined as:

$$\begin{aligned}({}^{CF}I_{\pi}^{\Delta}\lambda)(x) &= \frac{1-\Delta}{\beta(\Delta)}\lambda(x) + \frac{\Delta}{\beta(\Delta)}\int_{\pi}^x \lambda(x) dx \\({}^{CF}I_{\vartheta}^{\Delta}\lambda)(x) &= \frac{1-\Delta}{\beta(\Delta)}\lambda(x) + \frac{\Delta}{\beta(\Delta)}\int_x^{\vartheta} \lambda(x) dx.\end{aligned}$$

Motivated by the ongoing research, the main goal in this paper is to establish a new integral identity using the fractional operator. By using the new identity to proved the error bounds of Simpson second formula type inequalities for bounded function. Based on this identity we developed the Simpson second formula for the s -convex functions. We also include the applications to special means, and Simpson formula, taking many special cases of the main findings is discuses in literature.

2. Simpson's 3/8 Formula-Type Inequalities for Differentiable Function

In this section, we present a new identity by the mean of a fractional operator. This identity is required to prove our main results.

LEMMA 2.1. Suppose $\lambda : I \subset \mathbb{R} \rightarrow \mathbb{R}$ be a differentiable mapping on I° where $\pi, \vartheta \in I^{\circ}$ with $\pi < \vartheta$ and $\lambda' \in L^1[\pi, \vartheta]$, then the following fractional equality is proved:

$$\begin{aligned}&\frac{\lambda(\pi)}{8} + \frac{3}{8}\lambda\left(\frac{2\pi + \vartheta}{3}\right) + \frac{3}{8}\lambda\left(\frac{\pi + 2\vartheta}{3}\right) + \frac{\lambda(\vartheta)}{8} \\&- \frac{\beta(\Delta)}{\Delta(\vartheta - \pi)} [({}^{CF}I_{\pi}^{\Delta}\lambda)(k) + ({}^{CF}I_{\vartheta}^{\Delta}\lambda)(k)] + \frac{2(1-\Delta)}{\beta(\Delta)}\lambda(k) \\&= \frac{(\vartheta - \pi)}{9} \left[\int_0^1 \left(\Pi - \frac{3}{8}\right) \lambda' \left((1-\Pi)\pi + \Pi \frac{2\pi + \vartheta}{3} \right) d\Pi \right. \\&+ \int_0^1 \left(\Pi - \frac{1}{2}\right) \lambda' \left((1-\Pi) \frac{2\pi + \vartheta}{3} + \Pi \frac{\pi + 2\vartheta}{3} \right) d\Pi \\&\left. + \int_0^1 \left(\Pi - \frac{5}{8}\right) \lambda' \left((1-\Pi) \frac{\pi + 2\vartheta}{3} + \Pi\vartheta \right) d\Pi \right],\end{aligned}$$

where $\beta(\Delta) > 0$ is a normalizer function.

Proof. Let

$$\begin{aligned}&\int_0^1 \left(\Pi - \frac{3}{8}\right) \lambda' \left((1-\Pi)\pi + \Pi \frac{2\pi + \vartheta}{3} \right) d\Pi \\&+ \int_0^1 \left(\Pi - \frac{1}{2}\right) \lambda' \left((1-\Pi) \frac{2\pi + \vartheta}{3} + \Pi \frac{\pi + 2\vartheta}{3} \right) d\Pi \\&+ \int_0^1 \left(\Pi - \frac{5}{8}\right) \lambda' \left((1-\Pi) \frac{\pi + 2\vartheta}{3} + \Pi\vartheta \right) d\Pi \\&= I_1 + I_2 + I_3.\end{aligned}$$

By using the integration by parts, we have

$$\begin{aligned}
 I_1 &= \int_0^1 \left(\Pi - \frac{3}{8} \right) \lambda' \left((1 - \Pi) \pi + \Pi \frac{2\pi + \vartheta}{3} \right) d\Pi \\
 &= \frac{3 \left(\Pi - \frac{3}{8} \right)}{\vartheta - \pi} \lambda \left((1 - \Pi) \pi + \Pi \frac{2\pi + \vartheta}{3} \right) \Big|_0^1 \\
 &\quad - \frac{3}{\vartheta - \pi} \int_0^1 \lambda \left((1 - \Pi) \pi + \Pi \frac{2\pi + \vartheta}{3} \right) d\Pi \\
 (4) \quad &= \frac{9}{8(\vartheta - \pi)} \lambda(\pi) + \frac{15}{8(\vartheta - \pi)} \lambda \left(\frac{2\pi + \vartheta}{3} \right) - \frac{9}{(\vartheta - \pi)^2} \int_{\pi}^{\frac{2\pi + \vartheta}{3}} \lambda(u) du.
 \end{aligned}$$

$$\begin{aligned}
 I_2 &= \int_0^1 \left(\Pi - \frac{1}{2} \right) \lambda' \left((1 - \Pi) \frac{2\pi + \vartheta}{3} + \Pi \frac{\pi + 2\vartheta}{3} \right) d\Pi \\
 &= \frac{3 \left(\Pi - \frac{1}{2} \right)}{\vartheta - \pi} \lambda \left((1 - \Pi) \frac{2\pi + \vartheta}{3} + \Pi \frac{\pi + 2\vartheta}{3} \right) \Big|_0^1 \\
 &\quad - \frac{3}{\vartheta - \pi} \int_0^1 \lambda \left((1 - \Pi) \frac{2\pi + \vartheta}{3} + \Pi \frac{\pi + 2\vartheta}{3} \right) d\Pi \\
 (5) \quad &= \frac{3}{2(\vartheta - \pi)} \lambda \left(\frac{2\pi + \vartheta}{3} \right) + \frac{3}{2(\vartheta - \pi)} \lambda \left(\frac{\pi + 2\vartheta}{3} \right) - \frac{9}{(\vartheta - \pi)^2} \int_{\frac{2\pi + \vartheta}{3}}^{\frac{\pi + 2\vartheta}{3}} \lambda(u) du.
 \end{aligned}$$

Similarly, we have

$$\begin{aligned}
 I_3 &= \int_0^1 \left(\Pi - \frac{5}{8} \right) \lambda' \left((1 - \Pi) \frac{\pi + 2\vartheta}{3} + \Pi \vartheta \right) d\Pi \\
 &= \frac{3 \left(\Pi - \frac{5}{8} \right)}{\vartheta - \pi} \lambda \left((1 - \Pi) \frac{\pi + 2\vartheta}{3} + \Pi \vartheta \right) \Big|_0^1 \\
 &\quad - \frac{3}{\vartheta - \pi} \int_0^1 \lambda \left((1 - \Pi) \frac{\pi + 2\vartheta}{3} + \Pi \vartheta \right) d\Pi \\
 (6) \quad &= \frac{9}{8(\vartheta - \pi)} \lambda(\vartheta) + \frac{15}{8(\vartheta - \pi)} \lambda \left(\frac{\pi + 2\vartheta}{3} \right) - \frac{9}{(\vartheta - \pi)^2} \int_{\frac{\pi + 2\vartheta}{3}}^{\vartheta} \lambda(u) du.
 \end{aligned}$$

Adding the equalities (4), (5) and (6), we get

$$\begin{aligned}
 &I_1 + I_2 + I_3 \\
 &= \frac{9}{8(\vartheta - \pi)} \lambda(\pi) + \frac{15}{8(\vartheta - \pi)} \lambda \left(\frac{2\pi + \vartheta}{3} \right) - \frac{9}{(\vartheta - \pi)^2} \int_{\pi}^{\frac{2\pi + \vartheta}{3}} \lambda(u) du \\
 &\quad + \frac{3}{2(\vartheta - \pi)} \lambda \left(\frac{2\pi + \vartheta}{3} \right) + \frac{3}{2(\vartheta - \pi)} \lambda \left(\frac{\pi + 2\vartheta}{3} \right) - \frac{9}{(\vartheta - \pi)^2} \int_{\frac{2\pi + \vartheta}{3}}^{\frac{\pi + 2\vartheta}{3}} \lambda(u) du \\
 &\quad + \frac{9}{8(\vartheta - \pi)} \lambda(\vartheta) + \frac{15}{8(\vartheta - \pi)} \lambda \left(\frac{\pi + 2\vartheta}{3} \right) - \frac{9}{(\vartheta - \pi)^2} \int_{\frac{\pi + 2\vartheta}{3}}^{\vartheta} \lambda(u) du \\
 &= \frac{9}{8(\vartheta - \pi)} \lambda(\pi) + \frac{9}{8(\vartheta - \pi)} \lambda(\vartheta) + \frac{27}{8(\vartheta - \pi)} \lambda \left(\frac{2\pi + \vartheta}{3} \right)
 \end{aligned}$$

$$(7) \quad + \frac{27}{8(\vartheta - \pi)} \left(\frac{\pi + 2\vartheta}{3} \right) - \frac{9}{(\vartheta - \pi)^2} \int_{\pi}^{\vartheta} \lambda(u) du.$$

Multiplying the equality (7) with $\frac{(\vartheta - \pi)}{9}$ and subtracting $\frac{2(1-\Delta)}{\beta(\Delta)}\lambda(k)$, we have

$$\begin{aligned} & (I_1 + I_2 + I_3) \frac{(\vartheta - \pi)}{9} - \frac{2(1-\Delta)}{\beta(\Delta)}\lambda(k) \\ &= \frac{\lambda(\pi)}{8} + \frac{\lambda(\vartheta)}{8} + \frac{3}{8}\lambda\left(\frac{2\pi + \vartheta}{3}\right) + \frac{3}{8}\lambda\left(\frac{\pi + 2\vartheta}{3}\right) \\ & \quad - \frac{\beta(\Delta)}{\Delta(\vartheta - \pi)} \left(\frac{\Delta}{\beta(\Delta)} \int_{\pi}^k \lambda(u) du - \frac{(1-\Delta)}{\beta(\Delta)}\lambda(k) + \frac{\Delta}{\beta(\Delta)} \int_k^{\vartheta} \lambda(u) du \right. \\ & \quad \left. - \frac{(1-\Delta)}{\beta(\Delta)}\lambda(k) \right) \\ &= \frac{\lambda(\pi)}{8} + \frac{\lambda(\vartheta)}{8} + \frac{3}{8}\lambda\left(\frac{2\pi + \vartheta}{3}\right) + \frac{3}{8}\lambda\left(\frac{\pi + 2\vartheta}{3}\right) \\ & \quad - \frac{\beta(\Delta)}{\Delta(\vartheta - \pi)} [({}^{CF}I_{\pi}^{\Delta}\lambda)(k) + ({}^{CF}I_{\vartheta}^{\Delta}\lambda)(k)]. \end{aligned}$$

The proof of Lemma 2.1 is completed. \square

3. Simpson's 3/8 Formula-Type Inequalities for s -convex Function

In this section, we prove the error bounds of Simpson's second formula type inequalities for s -convex function.

THEOREM 3.1. *Let $\lambda : [0, \infty) \rightarrow \mathbb{R}$, $\pi, \vartheta \in \mathbb{R}^+$, $\pi < \vartheta$. If $|\lambda'|$ is s -convex on $[\pi, \vartheta]$, then the following fractional inequality is established:*

$$\begin{aligned} & \left| \left[\frac{\lambda(\pi)}{8} + \frac{3}{8}\lambda\left(\frac{2\pi + \vartheta}{3}\right) + \frac{3}{8}\lambda\left(\frac{\pi + 2\vartheta}{3}\right) + \frac{\lambda(\vartheta)}{8} \right] \right. \\ & \quad \left. - \frac{\beta(\Delta)}{\Delta(\vartheta - \pi)} [({}^{CF}I_{\pi}^{\Delta}\lambda)(k) + ({}^{CF}I_{\vartheta}^{\Delta}\lambda)(k)] + \frac{2(1-\Delta)}{\beta(\Delta)}\lambda(k) \right| \\ & \leq \frac{(\vartheta - \pi)}{9 \times 3^{-s} \times (s+1)(s+2) \times 2^{-5-3s}} [(3^{2+s} - 7 \times 8^{1+s} - 3^{3+s} \times 8^{1+s} + 12^{2+s} - 17 \times 16^{1+s} \\ & \quad + 21^{2+s} - 2^{2+3s} \times (2^{1+s} - 1 - 3^{2+s})s] (|\lambda'(\pi)| + |\lambda'(\vartheta)|). \end{aligned}$$

Proof. By using the Lemma 2.1, since $|\lambda'|$ is s -convex, we have

$$\begin{aligned} & \left| \left[\frac{\lambda(\pi)}{8} + \frac{3}{8}\lambda\left(\frac{2\pi + \vartheta}{3}\right) + \frac{3}{8}\lambda\left(\frac{\pi + 2\vartheta}{3}\right) + \frac{\lambda(\vartheta)}{8} \right] \right. \\ & \quad \left. - \frac{\beta(\Delta)}{\Delta(\vartheta - \pi)} [({}^{CF}I_{\pi}^{\Delta}\lambda)(k) + ({}^{CF}I_{\vartheta}^{\Delta}\lambda)(k)] + \frac{2(1-\Delta)}{\beta(\Delta)}\lambda(k) \right| \\ & \leq \frac{(\vartheta - \pi)}{9} \left[\int_0^1 \left| \Pi - \frac{3}{8} \right| \left| \lambda' \left((1-\Pi)\pi + \Pi \frac{2\pi + \vartheta}{3} \right) \right| d\Pi \right. \\ & \quad \left. + \int_0^1 \left| \Pi - \frac{1}{2} \right| \left| \lambda' \left((1-\Pi) \frac{2\pi + \vartheta}{3} + \Pi \frac{\pi + 2\vartheta}{3} \right) \right| d\Pi \right] \end{aligned}$$

$$\begin{aligned}
 & + \int_0^1 \left| \Pi - \frac{5}{8} \right| \left| \lambda' \left((1 - \Pi) \frac{\pi + 2\vartheta}{3} + \Pi\vartheta \right) \right| d\Pi \\
 = & \frac{(\vartheta - \pi)}{9} \left[\int_0^1 \left| \Pi - \frac{3}{8} \right| \left| \lambda' \left(\frac{3 - \Pi}{3} \pi + \frac{\Pi}{3} \vartheta \right) \right| d\Pi \right. \\
 & + \int_0^1 \left| \Pi - \frac{1}{2} \right| \left| \lambda' \left(\frac{2 - \Pi}{3} \pi + \frac{1 + \Pi}{3} \vartheta \right) \right| \\
 & \left. + \int_0^1 \left| \Pi - \frac{5}{8} \right| \left| \lambda' \left(\frac{1 - \Pi}{3} \pi + \frac{2 + \Pi}{3} \vartheta \right) \right| d\Pi \right] \\
 = & \frac{(\vartheta - \pi)}{9} \left[\int_0^1 \left| \Pi - \frac{3}{8} \right| \left(\left(\frac{3 - \Pi}{3} \right)^s |\lambda'(\pi)| + \left(\frac{\Pi}{3} \right)^s |\lambda'(\vartheta)| \right) d\Pi \right. \\
 & + \int_0^1 \left| \Pi - \frac{1}{2} \right| \left(\left(\frac{2 - \Pi}{3} \right)^s |\lambda'(\pi)| + \left(\frac{1 + \Pi}{3} \right)^s |\lambda'(\vartheta)| \right) d\Pi \\
 & \left. + \int_0^1 \left| \Pi - \frac{5}{8} \right| \left(\left(\frac{1 - \Pi}{3} \right)^s |\lambda'(\pi)| + \left(\frac{2 + \Pi}{3} \right)^s |\lambda'(\vartheta)| \right) d\Pi \right] \\
 = & \frac{(\vartheta - \pi)}{9} \left[\frac{1}{64^{1+s} \times (s+1)(s+2)} \left(\left(\frac{7}{3} \right)^s (49 \times 2^{1+3s} \times 3^{2+s} - 13 \times 2^{5+7s} \times 7^{-s} - 3^{3+s} \right. \right. \\
 & \times 4^{2+3s} \times 7^{-s} - 5 \times 2^{4+7s} \times 7^{-s} s + 3^{2+s} \times 7^{-5} \times 8^{1+2s} s) \Big) |\lambda'(\pi)| \\
 & + \frac{3^{2+s} + 8^{1+s} + 5 \times 2^{2+3s} s}{(s+1)(s+2) 2^{5+3s} \times 3^s} |\lambda'(\vartheta)| + \frac{2^{1+2s} s + 3^{2+s} - 2^s s - 2^{2+s} - 2^{2+2s}}{(s+1)(s+2) \times 2^{1+2s}} |\lambda'(\pi)| \\
 & - \frac{2^{2+s} + 2^{2+2s} - 3^{2+s} + 2^5 s - 2^{1+2s} s}{(s+1)(s+2) \times 2^{1+s} \times 3^{-5}} |\lambda'(\vartheta)| + \frac{3^{2+s} + 8^{1+s} + 5 \times 2^{2+3s} s}{(s+1)(s+2) 2^{5+3s} \times 3^s} |\lambda'(\pi)| \\
 & + \frac{1}{64^{1+s} \times (s+1)(s+2)} \left(\left(\frac{7}{3} \right)^s (49 \times 2^{1+3s} \times 3^{2+s} - 13 \times 2^{5+7s} \right. \\
 & \times 7^{-s} - 3^{3+s} \times 4^{2+3s} \times 7^{-s} - 5 \times 2^{4+7s} \times 7^{-s} s + 3^{2+s} \times 7^{-5} \times 8^{1+2s} s) \Big) |\lambda'(\vartheta)| \Big] \\
 \leq & \frac{(\vartheta - \pi)}{9 \times 3^{-s} \times (s+1)(s+2) \times 2^{-5-3s}} \left[(3^{2+s} - 7 \times 8^{1+s} - 3^{3+s} \times 8^{1+s} + 12^{2+s} \right. \\
 & \left. - 17 \times 16^{1+s} + 21^{2+s} - 2^{2+3s} \times (2^{1+s} - 1 - 3^{2+s}) s) \right] (|\lambda'(\pi)| + |\lambda'(\vartheta)|).
 \end{aligned}$$

The proof of Theorem 3.1, is completed. □

COROLLARY 3.2. *If we choose $s = 1$ in Theorem 3.1, then we get*

$$\begin{aligned}
 & \left| \left[\frac{\lambda(\pi)}{8} + \frac{3}{8} \lambda \left(\frac{2\pi + \vartheta}{3} \right) + \frac{3}{8} \lambda \left(\frac{\pi + 2\vartheta}{3} \right) + \frac{\lambda(\vartheta)}{8} \right] \right. \\
 & \quad \left. - \frac{\beta(\Delta)}{\Delta(\vartheta - \pi)} \left[({}^{CF}I_{\pi}^{\Delta} \lambda)(k) + ({}^{CF}I_{\vartheta}^{\Delta} \lambda)(k) \right] + \frac{2(1 - \Delta)}{\beta(\Delta)} \lambda(k) \right| \\
 & \leq \frac{25(\vartheta - \pi)}{576} (|\lambda'(\pi)| + |\lambda'(\vartheta)|).
 \end{aligned}$$

COROLLARY 3.3. *If we choose $|\lambda'(x)| \leq M = \|\lambda'\|_{\infty}$, in Theorem 3.1, then we get*

$$\left| \left[\frac{\lambda(\pi)}{8} + \frac{3}{8} \lambda \left(\frac{2\pi + \vartheta}{3} \right) + \frac{3}{8} \lambda \left(\frac{\pi + 2\vartheta}{3} \right) + \frac{\lambda(\vartheta)}{8} \right] \right.$$

$$\begin{aligned} & -\frac{\beta(\Delta)}{\Delta(\vartheta-\pi)}\left[({}^{CF}I_{\pi}^{\Delta}\lambda)(k)+({}^{CF}I_{\vartheta}^{\Delta}\lambda)(k)\right]+\frac{2(1-\Delta)}{\beta(\Delta)}\lambda(k)\Big| \\ & \leq \frac{25(\vartheta-\pi)}{576}\|\lambda'\|_{\infty}. \end{aligned}$$

REMARK 3.4. If we put $\Delta = 1$ and $\beta(0) = \beta(1) = 1$ in Corollary 3.3, we emphasise the fact that our obtained Corollary 3.3 improved the error bound given by Erden et. al [16, Corollary 4].

THEOREM 3.5. Let $\lambda : [0, \infty) \rightarrow \mathbb{R}$, $\pi, \vartheta \in \mathbb{R}^+$, $\pi < \vartheta$. If $|\lambda'|^q$ is s -convex on $[\pi, \vartheta]$ and $q > 1$, then the following fractional inequality is proved:

$$\begin{aligned} & \left[\frac{\lambda(\pi)}{8}+\frac{3}{8}\lambda\left(\frac{2\pi+\vartheta}{3}\right)+\frac{3}{8}\lambda\left(\frac{\pi+2\vartheta}{3}\right)+\frac{\lambda(\vartheta)}{8}\right] \\ & -\frac{\beta(\Delta)}{\Delta(\vartheta-\pi)}\left[({}^{CF}I_{\pi}^{\Delta}\lambda)(k)+({}^{CF}I_{\vartheta}^{\Delta}\lambda)(k)\right]+\frac{2(1-\Delta)}{\beta(\Delta)}\lambda(k)\Big| \\ & \leq \frac{(\vartheta-\pi)}{9}\left[\left(\frac{(3^{1+p}+5^{1+p})}{8^{1+p}(p+1)}\right)^{\frac{1}{p}}\left(\frac{3-2^{s+1}|\lambda'(\pi)|^q+|\lambda'(\vartheta)|^q}{3^s(1+s)}\right)^{\frac{1}{q}}\right. \\ & +\left(\frac{2^{-p}}{p+1}\right)^{\frac{1}{p}}\left(\left(\frac{2^{1+s}-1}{3^{s(s+1)}}\right)|\lambda'(\pi)|^q+|\lambda'(\vartheta)|^q\right)^{\frac{1}{q}}+\left(\frac{(3^{1+p}+5^{1+p})}{8^{1+p}(p+1)}\right)^{\frac{1}{p}} \\ & \left.\left(\frac{|\lambda'(\pi)|^q+3-2^{s+1}|\lambda'(\vartheta)|^q}{3^s(1+s)}\right)^{\frac{1}{q}}\right]. \end{aligned}$$

Proof. By using the Lemma 2.1, with the help of Hölder inequality and s -convexity of $|\lambda'|^q$, we have

$$\begin{aligned} & \left[\frac{\lambda(\pi)}{8}+\frac{3}{8}\lambda\left(\frac{2\pi+\vartheta}{3}\right)+\frac{3}{8}\lambda\left(\frac{\pi+2\vartheta}{3}\right)+\frac{\lambda(\vartheta)}{8}\right] \\ & -\frac{\beta(\Delta)}{\Delta(\vartheta-\pi)}\left[({}^{CF}I_{\pi}^{\Delta}\lambda)(k)+({}^{CF}I_{\vartheta}^{\Delta}\lambda)(k)\right]+\frac{2(1-\Delta)}{\beta(\Delta)}\lambda(k)\Big| \\ & \leq \frac{(\vartheta-\pi)}{9}\left[\int_0^1\left|\Pi-\frac{3}{8}\right|\left|\lambda'\left((1-\Pi)\pi+\Pi\frac{2\pi+\vartheta}{3}\right)\right|d\Pi\right. \\ & +\int_0^1\left|\Pi-\frac{1}{2}\right|\left|\lambda'\left((1-\Pi)\frac{2\pi+\vartheta}{3}+\Pi\frac{\pi+2\vartheta}{3}\right)\right|d\Pi \\ & +\left.\int_0^1\left|\Pi-\frac{5}{8}\right|\left|\lambda'\left((1-\Pi)\frac{\pi+2\vartheta}{3}+\Pi\vartheta\right)\right|d\Pi\right] \\ & = \frac{(\vartheta-\pi)}{9}\left[\int_0^1\left|\Pi-\frac{3}{8}\right|\left|\lambda'\left(\frac{3-\Pi}{3}\pi+\frac{\Pi}{3}\vartheta\right)\right|d\Pi\right. \\ & +\int_0^1\left|\Pi-\frac{1}{2}\right|\left|\lambda'\left(\frac{2-\Pi}{3}\pi+\frac{1+\Pi}{3}\vartheta\right)\right| \\ & +\left.\int_0^1\left|\Pi-\frac{5}{8}\right|\left|\lambda'\left(\frac{1-\Pi}{3}\pi+\frac{2+\Pi}{3}\vartheta\right)\right|d\Pi\right] \\ & = \frac{(\vartheta-\pi)}{9}\left[\left(\int_0^1\left|\Pi-\frac{3}{8}\right|^p d\Pi\right)^{\frac{1}{p}}\left(\int_0^1\left|\lambda'\left(\left(\frac{3-\Pi}{3}\right)^s\pi+\left(\frac{\Pi}{3}\right)^s\vartheta\right)\right|^q d\Pi\right)^{\frac{1}{q}}\right. \end{aligned}$$

$$\begin{aligned}
 & + \left(\int_0^1 \left| \Pi - \frac{1}{2} \right|^p d\Pi \right)^{\frac{1}{p}} \left(\int_0^1 \left| \lambda' \left(\left(\frac{2-\Pi}{3} \right)^s \pi + \left(\frac{1+\Pi}{3} \right)^s \vartheta \right) \right|^q d\Pi \right)^{\frac{1}{q}} \\
 & + \left(\int_0^1 \left| \Pi - \frac{5}{8} \right|^p d\Pi \right)^{\frac{1}{p}} \left(\int_0^1 \left| \lambda' \left(\left(\frac{1-\Pi}{3} \right)^s \pi + \left(\frac{2+\Pi}{3} \right)^s \vartheta \right) \right|^q d\Pi \right)^{\frac{1}{q}} \Big] \\
 = & \frac{(\vartheta - \pi)}{9} \left[\left(\int_0^1 \left| \Pi - \frac{3}{8} \right|^p d\Pi \right)^{\frac{1}{p}} \left(\int_0^1 \left(\left(\frac{3-\Pi}{3} \right)^s |\lambda'(\pi)|^q + \left(\frac{\Pi}{3} \right)^s |\lambda'(\vartheta)|^q \right) d\Pi \right)^{\frac{1}{q}} \right. \\
 & + \left(\int_0^1 \left| \Pi - \frac{1}{2} \right|^p d\Pi \right)^{\frac{1}{p}} \left(\int_0^1 \left(\left(\frac{2-\Pi}{3} \right)^s |\lambda'(\pi)|^q + \left(\frac{1+\Pi}{3} \right)^s |\lambda'(\vartheta)|^q \right) d\Pi \right)^{\frac{1}{q}} \\
 & \left. + \left(\int_0^1 \left| \Pi - \frac{5}{8} \right|^p d\Pi \right)^{\frac{1}{p}} \left(\int_0^1 \left(\left(\frac{1-\Pi}{3} \right)^s |\lambda'(\pi)|^q + \left(\frac{2+\Pi}{3} \right)^s |\lambda'(\vartheta)|^q \right) d\Pi \right)^{\frac{1}{q}} \right] \\
 \leq & \frac{(\vartheta - \pi)}{9} \left[\left(\frac{(3^{1+p} + 5^{1+p})}{8^{1+p}(p+1)} \right)^{\frac{1}{p}} \left(\frac{3 - 2^{s+1} |\lambda'(\pi)|^q + |\lambda'(\vartheta)|^q}{3^s(1+s)} \right)^{\frac{1}{q}} \right. \\
 & + \left(\frac{2^{-p}}{p+1} \right)^{\frac{1}{p}} \left(\left(\frac{2^{1+s} - 1}{3^{s(s+1)}} \right) |\lambda'(\pi)|^q + |\lambda'(\vartheta)|^q \right)^{\frac{1}{q}} + \left(\frac{(3^{1+p} + 5^{1+p})}{8^{1+p}(p+1)} \right)^{\frac{1}{p}} \\
 & \left. \left(\frac{|\lambda'(\pi)|^q + 3 - 2^{s+1} |\lambda'(\vartheta)|^q}{3^s(1+s)} \right)^{\frac{1}{q}} \right].
 \end{aligned}$$

The proof of Theorem 3.5, is finished. □

COROLLARY 3.6. *If we choose $s = 1$ in Theorem 3.5, then we get*

$$\begin{aligned}
 & \left| \left[\frac{\lambda(\pi)}{8} + \frac{3}{8} \lambda \left(\frac{2\pi + \vartheta}{3} \right) + \frac{3}{8} \lambda \left(\frac{\pi + 2\vartheta}{3} \right) + \frac{\lambda(\vartheta)}{8} \right] \right. \\
 & \left. - \frac{\beta(\Delta)}{\Delta(\vartheta - \pi)} \left[({}^{CF}I_{\pi}^{\Delta} \lambda)(k) + ({}^{CF}I_{\vartheta}^{\Delta} \lambda)(k) \right] + \frac{2(1 - \Delta)}{\beta(\Delta)} \lambda(k) \right| \\
 \leq & \frac{(\vartheta - \pi)}{9} \left[\left(\frac{(3^{1+p} + 5^{1+p})}{8^{1+p}(p+1)} \right)^{\frac{1}{p}} (|\lambda'(\pi)|^q + |\lambda'(\vartheta)|^q)^{\frac{1}{q}} + \left(\frac{2^{-p}}{p+1} \right)^{\frac{1}{p}} \left(\frac{|\lambda'(\pi)|^q + |\lambda'(\vartheta)|^q}{2} \right)^{\frac{1}{q}} \right].
 \end{aligned}$$

THEOREM 3.7. *Let $\lambda : [0, \infty) \rightarrow \mathbb{R}$, $\pi, \vartheta \in \mathbb{R}^+$, $\pi < \vartheta$. If $|\lambda'|^q$ is s -convex on $[\pi, \vartheta]$ and $q \geq 1$, then the following fractional inequality is constructed:*

$$\begin{aligned}
 & \left| \left[\frac{\lambda(\pi)}{8} + \frac{3}{8} \lambda \left(\frac{2\pi + \vartheta}{3} \right) + \frac{3}{8} \lambda \left(\frac{\pi + 2\vartheta}{3} \right) + \frac{\lambda(\vartheta)}{8} \right] \right. \\
 & \left. - \frac{\beta(\Delta)}{\Delta(\vartheta - \pi)} \left[({}^{CF}I_{\pi}^{\Delta} \lambda)(k) + ({}^{CF}I_{\vartheta}^{\Delta} \lambda)(k) \right] + \frac{2(1 - \Delta)}{\beta(\Delta)} \lambda(k) \right| \\
 \leq & \frac{(\vartheta - \pi)}{9} \left[\left(\frac{17}{64} \right)^{1 - \frac{1}{q}} \left(\frac{1}{64^{1+s} \times (s+1)(s+2)} \left(\left(\frac{7}{3} \right)^s (49 \times 2^{1+3s} \times 3^{2+s} - 13 \times 2^{5+7s} \right. \right. \right. \\
 & \left. \left. \times 4^{2+3s} \times 7^{-s} - 5 \times 2^{4+7s} \times 7^{-s} s + 3^{2+s} \times 7^{-5} \times 8^{1+2s} s) \right) |\lambda'(\pi)|^q \right. \\
 & \left. + \frac{3^{2+s} + 8^{1+s} + 5 \times 2^{2+3s} s}{(s+1)(s+2) 2^{5+3s} \times 3^s} |\lambda'(\vartheta)|^q \right)^{\frac{1}{q}}
 \end{aligned}$$

$$\begin{aligned}
 & + \left(\frac{1}{4}\right)^{1-\frac{1}{q}} \frac{2^{1+2s}s + 3^{2+s} - 2^s s - 2^{2+s} - 2^{2+2s}}{(s+1)(s+2) \times 2^{1+2s}} |\lambda'(\pi)|^q \\
 & - \frac{2^{2+s} + 2^{2+2s} - 3^{2+s} + 2^5 s - 2^{1+2s} s}{(s+1)(s+2) \times 2^{1+s} \times 3^{-5}} |\lambda'(\vartheta)|^q \Big)^{\frac{1}{q}} \\
 & + \left(\frac{17}{64}\right)^{1-\frac{1}{q}} \left(\frac{3^{2+s} + 8^{1+s} + 5 \times 2^{2+3s} s}{(s+1)(s+2) 2^{5+3s} \times 3^s} |\lambda'(\pi)|^q \right. \\
 & \left. + \frac{1}{64^{1+s} \times (s+1)(s+2)} \left(\left(\frac{7}{3}\right)^s (49 \times 2^{1+3s} \times 3^{2+s} - 13 \times 2^{5+7s} \times 7^{-s} \right. \right. \right. \\
 & \left. \left. \left. - 3^{3+s} \times 4^{2+3s} \times 7^{-s} - 5 \times 2^{4+7s} \times 7^{-s} s + 3^{2+s} \times 7^{-5} \times 8^{1+2s} s)\right) |\lambda'(\vartheta)|^q \right) \Big].
 \end{aligned}$$

Proof. By using the Lemma 2.1, with the help of power-mean inequality and s -convexity of $|\lambda'|^q$, we have

$$\begin{aligned}
 & \left| \left[\frac{\lambda(\pi)}{8} + \frac{3}{8} \lambda\left(\frac{2\pi + \vartheta}{3}\right) + \frac{3}{8} \lambda\left(\frac{\pi + 2\vartheta}{3}\right) + \frac{\lambda(\vartheta)}{8} \right] \right. \\
 & \left. - \frac{\beta(\Delta)}{\Delta(\vartheta - \pi)} \left[({}^{CF}I_{\pi}^{\Delta} \lambda)(k) + ({}^{CF}I_{\vartheta}^{\Delta} \lambda)(k) \right] + \frac{2(1 - \Delta)}{\beta(\Delta)} \lambda(k) \right| \\
 \leq & \frac{(\vartheta - \pi)}{9} \left[\int_0^1 \left| \Pi - \frac{3}{8} \right| \left| \lambda' \left((1 - \Pi) \pi + \Pi \frac{2\pi + \vartheta}{3} \right) \right| d\Pi \right. \\
 & + \int_0^1 \left| \Pi - \frac{1}{2} \right| \left| \lambda' \left((1 - \Pi) \frac{2\pi + \vartheta}{3} + \Pi \frac{\pi + 2\vartheta}{3} \right) \right| d\Pi \\
 & \left. + \int_0^1 \left| \Pi - \frac{5}{8} \right| \left| \lambda' \left((1 - \Pi) \frac{\pi + 2\vartheta}{3} + \Pi \vartheta \right) \right| d\Pi \right] \\
 = & \frac{(\vartheta - \pi)}{9} \left[\int_0^1 \left| \Pi - \frac{3}{8} \right| \left| \lambda' \left(\frac{3 - \Pi}{3} \pi + \frac{\Pi}{3} \vartheta \right) \right| d\Pi \right. \\
 & + \int_0^1 \left| \Pi - \frac{1}{2} \right| \left| \lambda' \left(\frac{2 - \Pi}{3} \pi + \frac{1 + \Pi}{3} \vartheta \right) \right| \\
 & \left. + \int_0^1 \left| \Pi - \frac{5}{8} \right| \left| \lambda' \left(\frac{1 - \Pi}{3} \pi + \frac{2 + \Pi}{3} \vartheta \right) \right| d\Pi \right] \\
 = & \frac{(\vartheta - \pi)}{9} \left[\left(\int_0^1 \left| \Pi - \frac{3}{8} \right| d\Pi \right)^{1-\frac{1}{q}} \left(\int_0^1 \left| \Pi - \frac{3}{8} \right| \left| \lambda' \left(\left(\frac{3 - \Pi}{3} \right)^s \pi + \left(\frac{\Pi}{3} \right)^s \vartheta \right) \right|^q d\Pi \right)^{\frac{1}{q}} \right. \\
 & \left(\int_0^1 \left| \Pi - \frac{1}{2} \right| d\Pi \right)^{1-\frac{1}{q}} \left(\int_0^1 \left| \Pi - \frac{1}{2} \right| \left| \lambda' \left(\left(\frac{2 - \Pi}{3} \right)^s \pi + \left(\frac{1 + \Pi}{3} \right)^s \vartheta \right) \right|^q d\Pi \right)^{\frac{1}{q}} \\
 & \left. + \left(\int_0^1 \left| \Pi - \frac{5}{8} \right| d\Pi \right)^{1-\frac{1}{q}} \left(\int_0^1 \left| \Pi - \frac{5}{8} \right| \left| \lambda' \left(\left(\frac{1 - \Pi}{3} \right)^s \pi + \left(\frac{2 + \Pi}{3} \right)^s \vartheta \right) \right|^q d\Pi \right)^{\frac{1}{q}} \right] \\
 \leq & \frac{(\vartheta - \pi)}{9} \left[\left(\frac{17}{64}\right)^{1-\frac{1}{q}} \left(\frac{1}{64^{1+s} \times (s+1)(s+2)} \left(\left(\frac{7}{3}\right)^s (49 \times 2^{1+3s} \times 3^{2+s} - 13 \times 2^{5+7s} \right. \right. \right. \right. \\
 & \left. \left. \left. \times 7^{-s} - 3^{3+s} \times 4^{2+3s} \times 7^{-s} - 5 \times 2^{4+7s} \times 7^{-s} s + 3^{2+s} \times 7^{-5} \times 8^{1+2s} s)\right) |\lambda'(\pi)|^q \right.
 \end{aligned}$$

$$\begin{aligned}
 & + \frac{3^{2+s} + 8^{1+s} + 5 \times 2^{2+3s}}{(s+1)(s+2)2^{5+3s} \times 3^s} |\lambda'(\vartheta)|^q \Big)^{\frac{1}{q}} \\
 & + \left(\frac{1}{4}\right)^{1-\frac{1}{q}} \left(\frac{2^{1+2s}s + 3^{2+s} - 2^s s - 2^{2+s} - 2^{2+2s}}{(s+1)(s+2) \times 2^{1+2s}} |\lambda'(\pi)|^q \right. \\
 & \left. - \frac{2^{2+s} + 2^{2+2s} - 3^{2+s} + 2^5 s - 2^{1+2s}}{(s+1)(s+2) \times 2^{1+s} \times 3^{-5}} |\lambda'(\vartheta)|^q \right)^{\frac{1}{q}} \\
 & + \left(\frac{17}{64}\right)^{1-\frac{1}{q}} \left(\frac{3^{2+s} + 8^{1+s} + 5 \times 2^{2+3s}}{(s+1)(s+2)2^{5+3s} \times 3^s} |\lambda'(\pi)|^q \right. \\
 & \left. + \frac{1}{64^{1+s} \times (s+1)(s+2)} \left(\left(\frac{7}{3}\right)^s (49 \times 2^{1+3s} \times 3^{2+s} \right. \right. \\
 & \left. \left. - 13 \times 2^{5+7s} \times 7^{-s} - 3^{3+s} \times 4^{2+3s} \times 7^{-s} - 5 \right. \right. \\
 & \left. \left. \times 2^{4+7s} \times 7^{-s} s + 3^{2+s} \times 7^{-5} \times 8^{1+2s} s) \right) |\lambda'(\vartheta)|^q \right].
 \end{aligned}$$

This completes the proof. □

COROLLARY 3.8. *If we choose $s = 1$ in Theorem 3.7, then we get*

$$\begin{aligned}
 & \left| \left[\frac{\lambda(\pi)}{8} + \frac{3}{8} \lambda\left(\frac{2\pi + \vartheta}{3}\right) + \frac{3}{8} \lambda\left(\frac{\pi + 2\vartheta}{3}\right) + \frac{\lambda(\vartheta)}{8} \right] \right. \\
 & \left. - \frac{\beta(\Delta)}{\Delta(\vartheta - \pi)} \left[({}^{CF}I_{\pi}^{\Delta} \lambda)(k) + ({}^{CF}I_{\vartheta}^{\Delta} \lambda)(k) \right] + \frac{2(1 - \Delta)}{\beta(\Delta)} \lambda(k) \right| \\
 \leq & (\vartheta - \pi) \left[\left(\frac{17}{576}\right) \left(\frac{973 |\lambda'(\pi)|^q + 251 |\lambda'(\vartheta)|^q}{1224}\right)^{\frac{1}{q}} + \frac{1}{36} \left(\frac{|\lambda'(\pi)|^q + |\lambda'(\vartheta)|^q}{2}\right)^{\frac{1}{q}} \right. \\
 & \left. + \left(\frac{17}{576}\right) \left(\frac{251 |\lambda'(\pi)|^q + 973 |\lambda'(\vartheta)|^q}{1224}\right)^{\frac{1}{q}} \right].
 \end{aligned}$$

REMARK 3.9. If we put $\Delta = 1$ and $\beta(0) = \beta(1) = 1$, in Corollary 3.8, then Corollary 3.8 reduces to [15, Corollary 3.3].

4. Simpson's 3/8 Formula-Type Inequalities For Bounded Function

In this section, we introduce the Simpson's 3/8 formula type inequalities for the differentiable Bounded function.

THEOREM 4.1. *Let $\lambda : [0, \infty) \rightarrow \mathbb{R}$, $\pi, \vartheta \in \mathbb{R}^+$, $\pi < \vartheta$. If there exists constants $m \leq \lambda'(x) \leq M$ for all $x \in [\pi, \vartheta]$, then the following fractional inequality holds:*

$$\begin{aligned}
 & \left| \left[\frac{\lambda(\pi)}{8} + \frac{3}{8} \lambda\left(\frac{2\pi + \vartheta}{3}\right) + \frac{3}{8} \lambda\left(\frac{\pi + 2\vartheta}{3}\right) + \frac{\lambda(\vartheta)}{8} \right] \right. \\
 & \left. - \frac{\beta(\Delta)}{\Delta(\vartheta - \pi)} \left[({}^{CF}I_{\pi}^{\Delta} \lambda)(k) + ({}^{CF}I_{\vartheta}^{\Delta} \lambda)(k) \right] + \frac{2(1 - \Delta)}{\beta(\Delta)} \lambda(k) \right| \\
 \leq & \frac{25(\vartheta - \pi)}{576} (M - m).
 \end{aligned}$$

Proof. By using the Lemma 2.1, we have

$$\begin{aligned}
& \left| \left[\frac{\lambda(\pi)}{8} + \frac{3}{8}\lambda\left(\frac{2\pi + \vartheta}{3}\right) + \frac{3}{8}\lambda\left(\frac{\pi + 2\vartheta}{3}\right) + \frac{\lambda(\vartheta)}{8} \right] \right. \\
& \quad \left. - \frac{\beta(\Delta)}{\Delta(\vartheta - \pi)} [({}^{CF}I^{\Delta}\lambda)(k) + ({}^{CF}I_{\vartheta}^{\Delta}\lambda)(k)] + \frac{2(1 - \Delta)}{\beta(\Delta)}\lambda(k) \right| \\
&= \frac{(\vartheta - \pi)}{9} \left[\int_0^1 \left(\Pi - \frac{3}{8}\right) \lambda' \left((1 - \Pi)\pi + \Pi\frac{2\pi + \vartheta}{3} \right) d\Pi \right. \\
& \quad + \int_0^1 \left(\Pi - \frac{1}{2}\right) \lambda' \left((1 - \Pi)\frac{2\pi + \vartheta}{3} + \Pi\frac{\pi + 2\vartheta}{3} \right) d\Pi \\
& \quad \left. + \int_0^1 \left(\Pi - \frac{5}{8}\right) \lambda' \left((1 - \Pi)\frac{\pi + 2\vartheta}{3} + \Pi\vartheta \right) d\Pi \right] \\
&= \frac{(\vartheta - \pi)}{9} \left[\int_0^1 \left(\Pi - \frac{3}{8}\right) \lambda' \left(\frac{3 - \Pi}{3}\pi + \frac{\Pi}{3}\vartheta \right) d\Pi \right. \\
& \quad + \int_0^1 \left(\Pi - \frac{1}{2}\right) \lambda' \left(\frac{2 - \Pi}{3}\pi + \frac{1 + \Pi}{3}\vartheta \right) \\
& \quad \left. + \int_0^1 \left(\Pi - \frac{5}{8}\right) \lambda' \left(\frac{1 - \Pi}{3}\pi + \frac{2 + \Pi}{3}\vartheta \right) d\Pi \right] \\
&= \frac{(\vartheta - \pi)}{9} \left[\int_0^1 \left(\Pi - \frac{3}{8}\right) \left(\lambda' \left(\left(\frac{3 - \Pi}{3}\right)\pi + \left(\frac{\Pi}{3}\right)\vartheta \right) - \frac{m + M}{2} \right) d\Pi \right. \\
& \quad + \int_0^1 \left(\Pi - \frac{1}{2}\right) \left(\lambda' \left(\left(\frac{2 - \Pi}{3}\right)\pi + \left(\frac{1 + \Pi}{3}\right)\vartheta \right) - \frac{m + M}{2} \right) d\Pi \\
& \quad \left. + \int_0^1 \left(\Pi - \frac{5}{8}\right) \left(\lambda' \left(\left(\frac{1 - \Pi}{3}\right)\pi + \left(\frac{2 + \Pi}{3}\right)\vartheta \right) - \frac{m + M}{2} \right) d\Pi \right]. \tag{8}
\end{aligned}$$

Employing the absolute value of the equality (8), we get

$$\begin{aligned}
& \left| \left[\frac{\lambda(\pi)}{8} + \frac{3}{8}\lambda\left(\frac{2\pi + \vartheta}{3}\right) + \frac{3}{8}\lambda\left(\frac{\pi + 2\vartheta}{3}\right) + \frac{\lambda(\vartheta)}{8} \right] \right. \\
& \quad \left. - \frac{\beta(\Delta)}{\Delta(\vartheta - \pi)} [({}^{CF}I^{\Delta}\lambda)(k) + ({}^{CF}I_{\vartheta}^{\Delta}\lambda)(k)] + \frac{2(1 - \Delta)}{\beta(\Delta)}\lambda(k) \right| \\
&\leq \frac{(\vartheta - \pi)}{9} \left[\int_0^1 \left| \Pi - \frac{3}{8} \right| \left| \lambda' \left(\left(\frac{3 - \Pi}{3}\right)\pi + \left(\frac{\Pi}{3}\right)\vartheta \right) - \frac{m + M}{2} \right| d\Pi \right. \\
& \quad + \int_0^1 \left| \Pi - \frac{1}{2} \right| \left| \lambda' \left(\left(\frac{2 - \Pi}{3}\right)\pi + \left(\frac{1 + \Pi}{3}\right)\vartheta \right) - \frac{m + M}{2} \right| d\Pi \\
& \quad \left. + \int_0^1 \left| \Pi - \frac{5}{8} \right| \left| \lambda' \left(\left(\frac{1 - \Pi}{3}\right)\pi + \left(\frac{2 + \Pi}{3}\right)\vartheta \right) - \frac{m + M}{2} \right| d\Pi \right]. \tag{9}
\end{aligned}$$

Since $m \leq \lambda'(x) \leq M$ for all $x \in [\pi, \vartheta]$, we have

$$\left| \lambda' \left(\left(\frac{3 - \Pi}{3}\right)\pi + \left(\frac{\Pi}{3}\right)\vartheta \right) - \frac{m + M}{2} \right| \leq \frac{M - m}{2}, \tag{10}$$

$$\left| \lambda' \left(\left(\frac{2 - \Pi}{3}\right)\pi + \left(\frac{1 + \Pi}{3}\right)\vartheta \right) - \frac{m + M}{2} \right| \leq \frac{M - m}{2}, \tag{11}$$

similarly, we get

$$(12) \quad \left| \lambda' \left(\left(\frac{1 - \Pi}{3} \right) \pi + \left(\frac{2 + \Pi}{3} \right) \vartheta \right) - \frac{m + M}{2} \right| \leq \frac{M - m}{2}.$$

Using the inequalities (10)-(12) in (9), we have

$$\begin{aligned} & \left| \left[\frac{\lambda(\pi)}{8} + \frac{3}{8} \lambda \left(\frac{2\pi + \vartheta}{3} \right) + \frac{3}{8} \lambda \left(\frac{\pi + 2\vartheta}{3} \right) + \frac{\lambda(\vartheta)}{8} \right] \right. \\ & \quad \left. - \frac{\beta(\Delta)}{\Delta(\vartheta - \pi)} \left[({}^{CF}I_{\pi}^{\Delta} \lambda)(k) + ({}^{CF}I_{\vartheta}^{\Delta} \lambda)(k) \right] + \frac{2(1 - \Delta)}{\beta(\Delta)} \lambda(k) \right| \\ & \leq \frac{(\vartheta - \pi)(M - m)}{18} \left[\int_0^1 \left| \Pi - \frac{3}{8} \right| + \int_0^1 \left| \Pi - \frac{1}{2} \right| + \int_0^1 \left| \Pi - \frac{5}{8} \right| \right] \\ & \leq \frac{25(\vartheta - \pi)}{576} (M - m). \end{aligned}$$

This completes the proof. □

5. Application to special means

(a) The Arithmetic mean:

$$A = A(\pi, \vartheta) := \frac{\pi + \vartheta}{2}, \quad \pi, \vartheta \in \mathbb{R};$$

(b) The Logarithmic mean:

$$L = L(\pi, \vartheta) := \frac{\vartheta - \pi}{\ln \vartheta - \ln \pi}, \quad \pi, \vartheta \in \mathbb{R}, \pi \neq \vartheta;$$

(c) The Generalized Logarithmic-mean:

$$L_r = L_r(\pi, \vartheta) := \left[\frac{\vartheta^{r+1} - \pi^{r+1}}{(r + 1)(\vartheta - \pi)} \right] \quad r \in \mathbb{R} \setminus \{-1, 0\}, \quad \pi, \vartheta \in \mathbb{R}, \pi \neq \vartheta;$$

PROPOSITION 5.1. *Let $\pi, \vartheta \in \mathbb{R}$ with $0 < \pi < \vartheta$, we have*

$$\begin{aligned} & \left| \frac{1}{4} A(\pi^n, \vartheta^n) + \frac{2^{n-3}}{3^{n-1}} (A^n(2\pi, \vartheta) + A^n(\pi, 2\vartheta)) - L_n^n(\pi, \vartheta) \right| \\ & \leq \frac{25n(\vartheta - \pi)}{576} [\pi^{n-1} + \vartheta^{n-1}]. \end{aligned}$$

Proof. The assertion follows from Corollary 3.2 $\lambda(x) = x^n$, $\Delta = 1$, and $\beta(0) = \beta(1) = 1$. □

PROPOSITION 5.2. *Let $\pi, \vartheta \in \mathbb{R}$ with $0 < \pi < \vartheta$, we have*

$$\begin{aligned} & \left| A(\pi^3, \vartheta^3) + 3A \left(\left(\frac{2\pi + \vartheta}{3} \right)^3, \left(\frac{\pi + 2\vartheta}{3} \right)^3 \right) - 4L_3^3(\pi, \vartheta) \right| \\ & \leq \frac{25}{24} (A(\pi^3, \vartheta^3) - G^2(\pi, \vartheta) A(\pi, \vartheta)). \end{aligned}$$

Proof. The assertion follows from Theorem 4.1 $\lambda(x) = x^3$, $\Delta = 1$, and $\beta(0) = \beta(1) = 1$. \square

6. Conclusion

Fractional calculus developing efficient and accurate numerical methods for solving integral inequalities. In this article, we have established the new identity for the Caputo-Fabrizio fractional integral operator. Employing this new identity of Simpson's second formula type inequalities for s -convex functions are obtained. By using this novel identity, the present error bounds of Simpson's second formula type inequalities are improved. Moreover, we also include the applications to special means. In the future, scholars may expand this work with modified Caputo-Fabrizio fractional operators and modified A - B fractional operators.

References

- [1] K. S. Miller and B. Ross, *An introduction to the fractional calculus and fractional differential equations*, Springer, 1993.
- [2] M. U. D. Junjua, A. Qayyum, A. Munir, H. Budak, M. M. Saleem, and S. S. Supadi, *A study of some new Hermite-Hadamard inequalities via specific convex functions with applications*, *Mathematics* **12** (3) (2024), 478.
<https://doi.org/10.3390/math12030478>
- [3] H. Yang, S. Qaisar, A. Munir, and M. Naeem, *New inequalities via Caputo-Fabrizio integral operator with applications*, *Aims Mathematics* **8** (8) (2023), 19391–19412.
<https://doi.org/10.3934/math.2023989>
- [4] H. Budak, *On Fejér type inequalities for convex mappings utilizing fractional integrals of a function with respect to another function*, *Results in Mathematics* **74** (2019), 1–15.
<https://doi.org/10.1007/s00025-019-0960-8>
- [5] S. S. Dragomir, R. P. Agarwal, and P. Cerone, *On Simpson's inequality and applications*, *Journal of Inequalities and Applications* **5** (2000), 533–579.
- [6] M. Z. Sarikaya, E. Set, and M. E. Ozdemir, *On new inequalities of Simpson's type for s -convex functions*, *Computers and Mathematics with Applications* **60** (8) (2010), 2191–2199.
<https://doi.org/10.1016/j.camwa.2010.07.033>
- [7] H. Budak, F. Hezenci, and H. Kara, *On parameterized inequalities of Ostrowski and Simpson type for convex functions via generalized fractional integrals*, *Mathematical Methods in the Applied Sciences* **44** (17) (2021), 12522–12536.
<https://doi.org/10.1002/mma.7558>
- [8] H. Budak, F. Hezenci, and H. Kara, *On generalized Ostrowski, Simpson and Trapezoidal type inequalities for co-ordinated convex functions via generalized fractional integrals*, *Advances in Difference Equations* **2021** (1) (2021), 1–32.
<https://doi.org/10.1186/s13662-021-03463-0>
- [9] J. Park, *On Simpson-like type integral inequalities for differentiable preinvex functions*, *Applied Mathematical Sciences* **7** (121) (2013), 6009–6021.
<http://dx.doi.org/10.12988/ams.2013.39498>
- [10] F. Hezenci, H. Budak, and H. Kara, *New version of fractional Simpson type inequalities for twice differentiable functions*, *Advances in Difference Equations* **2021** (2021), 1–10.
<https://doi.org/10.1186/s13662-021-03615-2>
- [11] Sitthiwirattam, T., Nonlaopon, K., Ali, M. A., & Budak, H. (2022). Riemann-Liouville fractional Newton's type inequalities for differentiable convex functions. *Fractal and fractional*, 6(3), 175, <https://doi.org/10.3390/fractalfract6030175>.
- [12] Gao, S., & Shi, W. (2012). On new inequalities of Newton's type for functions whose second derivatives absolute values are convex. *Int. J. Pure Appl. Math.*, 74(1), 33-41.

- [13] Hezenci, F., & Budak, H. (2023). Some Perturbed Newton's type inequalities for Riemann-Liouville fractional integrals. Rocky mountain journal of mathematics, 53(4), 1117-1127, DOI: 10.1216/rmj.2023.53.1117.
- [14] Iftikhar, S., Kumam, P., & Erden, S. (2020). Newton's-type integral inequalities via local fractional integrals. Fractals, 28(03), 2050037, <https://doi.org/10.1142/S0218348X20500371>.
- [15] Noor, M. A., Noor, K. I., & Iftikhar, S. (2018). Newton inequalities for p -harmonic convex functions, 40(2), 239-250, <https://dx.doi.org/10.5831/HMJ.2018.40.2.239>.
- [16] Erden, S., Iftikhar, S., Kumam, P., & Thounthong, P. (2020). On error estimations of Simpson's second type quadrature formula. Mathematical methods in the applied sciences, . <https://doi.org/10.1002/mma.7019>.
- [17] N. Alp, M. Z. Sarikaya, M. Kunt, and I. Iscan, *Hermite-Hadamard inequalities and quantum estimates for midpoint type inequalities via convex and quasi-convex functions*, Journal of King Saud University-Science **30** (2) (2018), 193–203.
<https://doi.org/10.1016/j.jksus.2016.09.007>
- [18] J. L. W. V. Jensen, *Sur les fonctions convexes et les inégalités entre les valeurs moyennes*, Acta Mathematica **30** (1) (1906), 175–193.
- [19] V. G. Mihe, *A generalization of the convexity*, Seminar on Functional Equations, Approximation and Convexity, Cluj-Napoca, Romania, 1993.
- [20] H. Hudzik and L. Maligranda, *Some remarks on s -convex functions*, Aequationes Mathematicae **48** (1994), 100–111.
- [21] R. Gorenflo and F. Mainardi, *Fractional calculus: integral and differential equations of fractional order*, Springer Vienna (1997), 223–276.
- [22] M. Caputo and M. Fabrizio, *A new definition of fractional derivative without singular kernel*, Progress in Fractional Differentiation and Applications **1** (2) (2015), 73–85.
<http://dx.doi.org/10.12785/pfda/010201>

Arslan Munir

Department of Mathematics, COMSATS University Islamabad, Sahiwal Campus, Sahiwal 57000, Pakistan

E-mail: munirarslan999@gmail.com

Hüseyin Budak

Department of Mathematics, Duzce University, Duzce, Turkiye

E-mail: hsyn.budak@gmail.com

Hasan Kara

Department of Mathematics, Duzce University, Duzce, Turkiye

E-mail: hasan64kara@gmail.com

Laxmi Rathour

Department of Mathematics, National Institute of Technology, chaltlang, aizawl 96012, Mizoram, India

E-mail: laxmirathour817@gmail.com

Irza Faiz

Department of Mathematics,

Government College University Faisalabad Sahiwal Campus, Pakistan

E-mail: faizirza48@gmail.com